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(=8 FIES E N Rl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-70l 2EES gEE A=A 30,000
-HI8 d30ts 828 M ZEAE 30,000
-HIZ ADI0IS B3F RlY TR A 30,000
2 A0S BEA MY T 30,000
-HIS 4S0tS 58 e ZEAY 20,000
23 dAclli= Sdd Mg LAY 20,000
23 EAd0E Sdd Mg LAY 30,000
-S4 SH0S Hote A= 4XIAY 40,000
-S4 ME0ES ot A= FHIAIY 28,000
-Sa AAIDE 2B (XY) MY 2F
Ared 30,000
-S4 Hel0tE (X)) ofd FHl
At 15,000
-S& AIADS etEZ(XE) St Fil
N 6,000
-FE AS0IE PEAE Y ofAE
NI At 30,000
03 AIZSTHYI 5,645 1,354 4,291
O MEfSIA U NYSIE KX
A& 208 400,000,000&*0.72/100 2,880
O U004 AIE 2]
384,000,000&+0.72/100 2,765
StERXZel(Ex) 1,213,000 1,165,000 48,000
= 713,000
[Ea 500,000
401 A& HIX R0 1,213,000 817,952 395,048
= 713,000
o 500,000
01 A28l 1,213,000 817,952 395,048
O XIotd A8 E=(&2 JHl, ot
=4 8) 400,000
< 250,000
[Ea 150,000
O Xgstd JI8M &l 700,000
= 350,000
o 350,000
O & Ag2sg FUFooat 113,000
-8 A2d(F0tetd) MY & &4
A+ 95,000
< 95,000
-HIS AdS0S UXIE Mg ZHSA 18,000
== 18,000
=Jtotd |Xi2el (BX) 793,000 473,000 320,000
= 793,000
101 @124H| 14,500 45,000 230,500
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&2l ol = Xl2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 14,500
04 JIZtNZ22 XS 2+ 14,500 45,000 230,500
O =Jtotd W S8R 25 14,500
= 14,500
201 fer23| 46,500 61,000 14,500
= 46,500
01 At2t2ltl 16,500 25,000 29,500
O st&+9Y W 208 X 5,500
= 5,500
O ZHLIH U=, 2857) 10,000
= 10,000
02 S3=gHl 31,000 36,000 25,000
O AOtEE22AAE )| & SHes 31,000
= 31,000
401 AIZHIX S0HH 732,000 367,000 365,000
= 732,000
01 Al&H| 732,000 367,000 365,000
O MEHEZ 2 A5 RAE= 43,000
= 43,000
O AN&sS et 54 & 4580t 310,000
= 310,000
O =Jtotd JIdMl Zdl 113,000
= 113,000
O A= RANE=+ 10,000
= 10,000
O N&E+== HA & =2 256,000
= 256,000
aotd RAl2c 641,919 0 641,919
= 85,000
o 556,919
101 @124H| 16,498 16,498
04 JIZtNZ22 NS+ 15,498 15,498
O 2ot SAZ(ESHA & 2|
0= 28) 172,2002 98 x 102 15,498
401 AIEHIZ SR OHYI 626,421 0 626,421
[ 85,000
Ea 541,421
01 Al&HI 623,000 0 623,000
O At |XIZel(SIHAH )
40,000,000& »23] 80,000
O =24 458,000
-E& SH0ts SHAGHE 23I17 X
At 7,000
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A PN I= S
B SIETG OIA
s XYoot HHIAE (CHe) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
XI5t FUI(OrAE THAHOI ) (R EHALY) 5,308,820 6,303,036 A994,216
= 3,715,820
= 1,593,000
401 AIEHIX S0 5,308,820 6,303,036 A994,216
= 3,715,820
[Ea 1,593,000
01 A28l 5,101,820 6,087,816 985,99
O XLt ZHI(OHaHE THaHoE) = A& 5,101,820
s 3,575,820
s 1,526,000
02 2l 200,000 200,000 0
O Xgotd Fol(0taE THahoY) = M8 200,000
S 140,000
= 60,000
03 AIZ2THYI 7,000 15,220 A8,220
O XLt ZHI(OHata THaHoE) = A& 7,000
XYt FH(MFH)(HEAIY) 2,946,080 5,000,000 /2,053,920
== 2,946,080
401 AIZHIZ S0 2,946,080 5,000,000 A2,053,920
= 2,946,080
01 Al&HI 2,792,780 4,887,781 /2,095,001
O =& Kol EHIAY = d& 2,792,780
S 2,792,780
02 2/l 153,300 100,000 53,300
O &d=d ol EHIAY = d& 153,300
[ 163,300
20td ZHIAIE 2,370,000 0 2,370,000
Ot AGHE FUIAIS (B EAIY) 200,000 0 200,000
401 AlZHIZ SO 200,000 0 200,000
01 AlZ8| 198,570 0 198,570
O DHEAGHE ZHIAMYE (HEALY) 198,570
03 Al 20HHI 1,430 0 1,430
O Or2AcHe HHIAF (HEALY)
198,570,000& *0.72/100 1,430
o AGHE FHIAS(HEAY) 200,000 200,000
401 AlEHIY S CHYI 200,000 200,000
01 AlZH| 198,570 198,570
O &EAGHE HHIAIYG (HEALY) 198,570
03 AlESTHYI 1,430 0 1,430
O G HHIAIY (HEALS)
198,570,000& +0.72/100 1,430
SlelAohe HHIAIS (M EALY) 200,000 0 200,000
401 AlZHIZ S0 200,000 0 200,000
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et Aot ZHIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 198,570 0 198,570
O otelActe HHIAI (HEALY) 198,570
03 A2 THYI 1,430 0 1,430
O ofelAGHe HHIAMG (HEALY)
198,570,000 +0.72/100 1,430
SHHAGHE FHHIAIS (M EALY) 1,210,000 0 1,210,000
401 AIEHIZ SR 0HYI 1,210,000 1,210,000
01 Al&HI 1,205,644 1,205,644
O SHHASHE FHIAIS (HEAL) 1,205,644
03 Al£ = THHI 4,3% 0 4,3%
O =HHASH FBIAIS (HEALY) 4,3%
SelAotd A (HEAY) 460,000 460,000
401 AlEHIY S CHYI 460,000 460,000
01 AlZH| 456,688 456,688
O ZcIAGH ZHIAMYG (HEALY) 456,688
03 A2 = THHI 3,312 0 3,312
O ScIAGHe ZHIAMYG (HEALY) 3,312
2= A0t FHIAY 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 Al&H| 99,280 99,280
O €=40td FHIA 99,280
03 Al 2 HHI 720 0 720
O €=40td FHIA 720
SHEAIE AL 108,752 0 108,752
Ot Al AH 108,752 0 108,752
201 fer= 3| 6,400 0 6,400
01 At 2|l 6,400 0 6,400
O aotd&c|?As =&
70,0003 x4 H 52 1,400
O ofd DI=EXN ZEI =8 5,000
202 04l 2,352 2,352
01 =LHAHI 2,352 2,352
O otEAIZE 30l
70,0002 x4 %123 %70/100 2,352
401 Al HIZ R 0HbI 100,000 100,000
01 AlZ8| 100,000 100,000
O ot DI=EXEY 50,0002 *2,000m" 100,000
ol Mol =AY 9,740,420 0 9,740,420
= 8,629,540
s 449,108
s 661,772
6.27~7.27 SLUGH MHETRAI (HEHA) 1,000 0 1,000
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P\ T=geiesin;
O THOH OCIl AL
otd THoH=+Are (St &)
SA - BE - GI(3H) - NIRAIYS - Ofl b G o HIR=2
401 AIEBIZ20HbI 1,000 1,000
01 Al&HI 1,000 1,000
O Hatd Mol=7AY 1,000
27~7.27 S22Uloll THHES A (A 1,214,419 1,214,419
= 1,214,419
401 Al BIZL 200 1,214,419 1,214,419
= 1,214,419
01 AlEHI 1,214,419 1,214,419
O HE A0HE =F2AL 24,212
= 24,212
O st AGHE S72A 39,571
= 39,571
O oY AGHE S2A 25,902
= 25,902
O st A5 S72AL 36,005
= 36,005
O == 408 =S72A 69,554
= 69,554
O X AGH =72A 122,574
= 122,574
O 2= ACHE =S32A 23,191
= 23,191
O 23 AotE SFAL 36,568
= 36,568
O LHAF A5 S2AL 21,321
= 21,321
O & ASHE 23A4 227,730
= 227,730
O G2l Aot =72A 31,882
= 31,882
O &= AGHE =572A 36,303
= 36,303
O &= A5t =S7A 23,535
= 23,535
O oAU A6tE SFAL 22,046
= 22,046
O L2 A5 S2A 128,49
= 128,49
O &4 AGHE S7A 129,629
= 129,629
O &= ACHE =S2A 64,608
= 64,608
O Fet A5t =S72A 22,338
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THtor & 0t
SHM XHoH Oil'2f AL
otd THoH=+Are (e A
M- BB SRI(E) - HIRA - of v G o HIDE2
= 22,338
O == A0ld S7AIE 25,208
= 25,208
O L= A0ld S7AE 23,114
= 23,114
O 2t A5t SPAISE 31,443
= 31,443
O & Aotd SAE 23,095
= 23,095
O =4l A5t S2ALY 26,001
= 26,091
6.27~7.27 SLUH MHETRAI (X 8,525,001 8,525,001
= 7,415,121
= 449,108
o 660,772
401 AIZHIX R0 8,525,001 8,525,001
= 7,415,121
= 449,108
= 660,772
01 Al&H| 8,525,001 8,525,001
O tIEE MHoll= AL 271,705
= 271,705
O 2EE M= AY 259,876
= 259,876
O FXI&E MHoll= AL 330,157
= 330,157
O Edd MHol=S7AIY 176,631
= 176,631
O d3d Moll=7 A 174,591
= 174,591
O S2& Moll=7 A 136,018
= 136,018
O A22E MHoll= ALY 109,633
= 109,633
O SNE THoll= AL 177,823
= 177,823
O & oS 2ALY 321,030
= 321,030
O d=&1 MHol=7AIE 2,709,340
= 2,476,778
s 232,562
O D&ET THoH =S RAIS 816,020
= 795,123
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Chel: ot MoiE-AMY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 20,897
O =82 Mol =7AIE 907,484
= 652,013
= 127,736
Ea 127,735
O LD&tE THoll =7 AL 2,134,693
= 1,533,743
= 300,475
Ea 300,475
MEFOHH] & 2te] AIAE 25 2,435,438 2,732,761 A297,323
= 150,000
== 23,200
s 2,262,238
erd 2| QlEet 1= 2,371,749 2,651,441 A279,692
= 150,000
= 23,200
o 2,198,549
MASE ot &2t 254,725 495,726 A241,001
201 etz 3| 254,725 195,726 58,999
01 At 2|l 12,080 12,080 0
O &fdl, thEst AKS &8 JH|
1,000,000 #22] 2,000
O Mterdafatal MatEd| =&t|
840,000 1200 & 10,080
02 S3=4gl 242,645 183,646 58,999
O THH Ot A EA DIAStAH SRIE 8,169
O Me&Ze X2 6,980
O 2=l |FAE+ 16,265
O O=EMdgs =2+ 48,870
O &A= BEANE |2 17,640
O MZAICCTV =22 13,146
O UERIEH RNE+ 6,400
O SZAMA SAEX T HSAAE =K
2= 6,101
O NANEEUIIHASALE RX24 8,386
O Mt HFEAE SERes & &8JIes
5,924,000~ 128 71,088
O =5 & 2NeEs 2=
3,300,000& «12& 39,600
CCVSE2HEEH =29 1,393,024 1,346,758 46,266
201 Ler23| 762,492 704,598 57,8%4
01 At2teltl 5,964 7,230 A1,266
O SBRHMUE 2L xS
70,0002 %9 630
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2 T et 2te] AlAE =5
Chel: otFate| olZet K EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O SEZHHEH AFRIDI € 2257
270,00021*1031%90/100 2,430
O SBRMAAY U HHCVRX S4B}
SRS 100,000 x9 & »22| 1,800
O SE2HEE SIEEI & E=D|
iz 92,0002~ 12 1,104
02 S5=g4l 756,528 697,368 59,160
O GV &Jes= 3,553,000& «12& 42,636
O GV Stles=s 24,975,0008 123 299,700
O CTV SEZMUEAAE RA24
34,516,000 ~12& 414,192
202 04| 1,764 2,264 A500
01 SLHoIH 1,764 2,264 2500
O ss2HE EH0M)
70,0002 +32 * 128 +70/100 1,764
207 ARl 8,640 9,360 NT20
02 MAHHZHI 8,640 9,360 AT20
O BiOlHA sial T2 7)E 2 8,640
307 @12t01 & 520,128 499,536 20,592
05 git?(& =S 520,128 499,536 20,592
O SE2HHE CCTV 2HMRE IS
3,612,000 x 128« 122 520,128
401 Al HIZL 01| 20,000 20,000
01 Al&H| 20,000 20,000
O Se2HdE TV 2| S uH
2,000,000 *10CH 20,000
405 KHoHFSHI 80,000 111,000 /31,000
01 ML ESFSHI 80,000 111,000 A31,000
O CCIVEE2NdE SA4MEEX, Jtatst
NBi S o4 80,000
SIS (HYHSOIA, HEFAN) TV &X KNRA 101,000 66,400 34,600
&
= 23,200
= 77,800
401 Al HIZ 2018 101,000 66,400 34,600
= 23,200
Ea 77,800
01 A28l 101,000 66,400 34,600
O 2024 2HS(SSLYS, IVLAME) CCTV
EXX2 A 71,000
== 14,200
o 56,800
O Qrsh g2l LA (EX) 30,000
= 9,000
= 21,000
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S THHE D
2 T et 2te] AlAE =5
Chel: otMate| olmet RH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 150,000
s 150,000
01 Al&H| 300,000 300,000 0
O &==2d A2 NSIEHAE
SXIA (At 150,000
2 75,000
2 75,000
O B2 FHUT2 NSHTAIL
NG (SS) 150,000
= 75,000
Ea 75,000
SO & AP E 2 2ke| 63,689 81,320 A17,631
A OFM B 2te) 63,689 81,320 A17,631
201 er23| 46,337 81,320 A34,983
01 At2teltl 46,337 81,320 A\34,983
O S aHy| 50,000 x65H 3,250
O Hgetd=dyl 7,500,000 <22 15,000
O HEEE & 2A2eEZ 72|
2,000,000 #22] 4,000
O 2elZ=A W=l 35,0002 ~87 3,045
O Lot Hate| ?IEH| 21,042
202 04| 2,352 2,352
01 2L A 2,352 2,352
O SUMHHE &0
70,0002 x4 %122 +70/100 2,352
207 ARl 15,000 15,000
01 H2ESHI 15,000 15,000
O /A48t |5l 15,000
HH2LZHI(T D) 55,341 53,964 1,377
=238l 55,341 53,964 1,377
JI23Hl 55,341 53,964 1,377
201 et 3| 27,741 28,692 A\951
01 At2t2l] 21,741 22,692 2951
O At22telt] 24,156,000 *90/100 21,741
2 35244l 6,000 6,000 0
O =323l 6,000
202 04l 22,680 20,412 2,268
01 =LHAHI 22,680 20,412 2,268
O =Uoidl 90,0002 %30 * 12&+70/100 22,680
203 =8| 4,920 4,860 60
M FA2HHIFII 4,920 4,860 60
O M-tetdz2d R2F4Y|
410,000 123 4,920
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A BN I= S
U HRES(Hor D)
=l WRAAXE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MHeas (MHerM ) 1,075,446 1,008,656 66,790
AN 1,022,946 956, 156 66,790
MetzeDls 88 1,022,946 956,156 66,790
RJIsdES 1,022,946 956,156 66,790
0N JI=sdEs 1,022,946 956,156 66,790
O Me2ePDls 88 1,022,946
HXE 52,500 52,500 0
N afe 52,500 52,500 0
311 XS0l Rratg 52,500 52,500 0
01 Al 2 - RXSNLIISXLSO0IAtaf 2t 52,500 52,500 0
O Otatd X1gotd FHIAE 31,500
O &d=& Xgotd A 21,000
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